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7. [13 points] For this problem, consider the function f(z) = (1 + z)sin(z).

(a) Write Ty(z), the second Taylor polynomial for f with base b = 0.
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(b) Find (and justify) an error bound for |f(z) — To(z)| on the interval [—0.01, 0.01].
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7. (12 pts) Let f(z) =1+ z + 22 + 325,
(a) Find the second-degree Taylor polynomial, T5(z), for f(x) based at b= 1.
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(b) Determine an interval around b = 1 on which
|T2(z) — f(z)] < 0.024.
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Sp’17 Final Problem 9 — Both Lectures 1) = 2 3y
Let T;, (x) be the nt" Taylor polynomial |
for f(x) = e3* based at b = 0. Find
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9. (12 pts) For ALL parts below, consider Taylor polynomials for g(z) = ¢®/? based at b = 1.

(a) Find the thlrd Taylor polynomial, T3(x), for g(x) based at b = 1.
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) On the interval [ = , for which of the values of n below does Taylor’s inequality
guarantee that |f(z ) ( )| < 0.0017?
You must show enough error bound calculations to justify your answer.
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